B 9 10 ¥ |12 | | 2 3 A 5 6 7 8
B b F|LipiFlLig! FlLip!F|LichiF|LihiF|LidiF|Lid F|Lid F|Li® T|Li® FT|LiFRT
158 O O | ] ] X
4 1% & Bl Bl &) Y ¥
= 5 fi 3 3l e fié i
| & X
" O O [] X
Ll Z 1% I %
X i HE ]
Yol #efE (10a24 1) ) Yo B3
HE At 1,500kg R
=K 150~200kg K .7 U975
y B o Pk
Yo B X U9
B = 10A R ~111 kA TT7 Ly
F HRk= 3 Hvyphal~ 4 Hvh) INET ) R
| EiEs 4kg (10a24")
e Yo N FEE
v AEEF (10a2% 1)) iEZ 6 A La)~ 1)
o | I S, R, NEA10kg BEE 7 E~ T
BHAE =R 2 kg IED T E D HRBICE D - 72EET
G| DEWHETERET 5
PO | e skl 1 e
S A 15~20cm’ a1 - 12k
= H ~20cm | - = I g
| HEX 10~150m J T RRK)
Yo PR FE
welalg| & 7H~8H
1| H AHE3 ~ 5 HEHY
2 8] H 7 ~ 8 HEHH Yo U &
3 ] H 10~ 123E 10224 1) : 100~120kg



